12/11/2013

What is the multiplicative inverse

of g as a mixed number.

True or False

1 2
The quotient of4§ + 3 is greater

than 4l .
5

Explain your Answer

Solve the equation for the
variable.
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The winners of the relay race will win
g Ib of candy. If there are 3 people

on the winning team who share the
prize equally, how many pounds of
candy will each player win?

True or False
sz
The product of | g ]is g7 -

Explain your Answer

How many % yard pieces of wood
can you cut from a piece of wood that

is 6 yards long?




12/11/2013

The winners of the relay race will win
g Ib of candy. If there are 3 people

on the winning team whoJshare)the
prize equally, how many pounds of

r False
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The product of [%J is <7 .

Explain your Answer
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Simplify the Fraction into lowest

5 1 terms,

40
24

Maria needs % of a cup of sugar for 1 1 3
one serving of her recipe. How many 2

cups of sugar will she need for 5
servings? 1 2 1 4

L
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Simplify the Fraction into lowest
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True or False

The product of 6 » 431-can be

rewritten as 6(4) o 6(

)

Explain your Answer
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@False

The product of 6 » 4§can be

rewritten as 6(4) 6[%} ;

Explain your Answer




